113Fﬁfﬁﬁ“@iﬂ%ﬁ%ﬁiﬁﬁé“kﬁﬁd%zgfﬁﬁﬁ%ﬁ%ﬁ‘ﬁygé&gfﬁ = f?gg —

fe il 4151 509 | e [ ]| e |mem] PO |
101 |/MNERBE S EE %0 —fgaE| 1 3 1 ) 82.76 |100.00%
102 NE;L,% —f%4E| 3 1 1 85.44 | 33.33% | 1
103 |EIE &N —fREl 6 | 3 3 83.48 | 50.00%
104 E?%S%Eﬁjuﬁﬁ —f%AE| 1 2 0 ) 70.00 | 0.00%
105 | & 422090 —fRE| 4 1 1 82.25 | 25.00%
106 | & 4L 20 F0 AT FriER| 0 1 0 1 -
201 |V £ ~ ROCYIEERT K FE R Y)EE R =%FEnEelEE |—BE| 9| 20| 1 | 8 Br11 - | 88.89%

Y —RE 6 4 80.30

Y Z, —E 9 1 82.00

R E —RE 1 1 91.70

JiaEkzpE —E 4 1 | 2 85.60 -
202 [ % {EE24H —f@El 6 | 15 2| 2| 4 &7 90.00 | 100.00%
203 |[{EE2 % (LB ER4H —&El 0 | 3 0 B3 - -
204 |Hh R ER 55 5 EL —&E| 2 1 2 | ESHE1 | 88.00 |100.00%
205 | R é@@%@ﬁ%@i@@%ﬁ —f&4El 3| 1 0 1 80.00 | 0.00%
401 [EEPREE RS R —f&E| 0 1 0 Bl - -
402 | LU LB EE Sy T L YRR SR P —E| 1 5 1 R4 77.70 | 100.00%
403 | =YL 5 T A VIR P FER| 0 | 1 0 Gl
404 |EEFRERRT ST FiT —fE| 0 | 2 0 &2
405 | GEH ER A ST P ERRE| 0 1 0 7! - -
406 SRR TCET —fE| 3 1 1 88.78 | 33.33% | 1
407 [JREEEAFFT FER| 0 1 0 il - -
408 | R4V BRZE P —E| 1 4 0 R4 70.00 | 0.00%
409 |fiF =2 RE AR AL V2T 5 F —fgEl 2 | 2 2 86.50 |100.00%
410 |fiF) 22 R AR AR V2 S Fi FriER| 0 1 0 1
411 | AR —fE| 0 1 0 B
412 | BT FERE| 0 1 0 1

FIH




113&Eﬁﬁi‘i&%ﬁ%ﬁi%zﬁé“’xﬁﬁd%zg%ﬁﬁ@%ﬁ‘ﬁy BR—ER Bﬁ{fg

413 |5y FEEERTHSEFR —E| 1 5 0 s 80.00 [ 0.00%
414 |53 FEEERIHZEFT FriER| 0 1 0 Al - -
415 | TR PR SR AT —fRE| 1 2 0 2 70.00 | 0.00%
416 | R W5 T ¥riER| 0 1 0 #r1 - -
417 | B RS R (RS B 2T o T —&E| 1 2 1 Bl 88.36 |100.00%
418 | B i BB B2 B (T SR T —R&E| 2 1 0 1 70.00 | 0.00%
419 | B S 4 BB B 2 (R S Y FEE| 0 | 1 0 1 - -
420 | B i BB B2 B (T S T ERRE| 5 1 2 FiF1 | 86.80 | 40.00% | 2
501 | R THREZ —&E| 5 | 8 4 4 80.00%

B~ K TAE —&&E| 0 0

Z ~ 4EETRE —f&&E| 0 0

7~ ERSEREh TR [ —RR&E] 0 0 - -

1~ KFTEE —RRAE| 1 0 80.00 | 0.00%

I~ TR —&4E| 0 0

o HIE R ZERTE | — R E| 0 0 - -

BE o BTSSR | 2 2 80.00 |100.00%

W ANTEETER|—E 2 2 80.00 |100.00%
502 | HARTFEEE £ ERE| 4 | 3 4 JiF1 100.00%

F -~ R T2 g 0 0 - -

Z -~ GERETRE ERRAE| 1 1 80.00 |100.00%

7~ ESEIEITAE | FERRE| 0 0

1~ KHITHE EBE| 0 0

I~ TR ERAE| 0 0 - -

O HIE R ZE AR | ERRE | 1 1 80.00 |100.00%

BE R TRREETE (ERRAE| 2 2 80.00 | 100.00%

¥ A ATESTEERN[AFBRE] 0 0 s s
503 | T2 % —&%E| 13 | 16 8 H18 - | 61.54%

B~ [T —E| 3 2 89.00 | 66.67%

HE10H




113&fﬁf@ﬁiﬁﬁﬁﬁ?@é%ZﬁﬁW%Z%%ﬁﬁ%ﬁ%ﬁ‘ﬁygéyﬁkﬁﬁﬁ = %ESHEF; —

e AL | | s e ]| mm | Eow] TF |

AN —RE| 2 1 87.00 | 50.00%

W~ B —RBEE| 1 1 90.00 | 100.00%

T~ 8IS —ReE|l 3 2 79.00 | 66.67%

X~ BB —fE| 4 2 80.00 | 50.00%
504 [HHR TAZER A EREl 3 | 3 0 B3 - 0.00%

B~ &7 ERRE] 0 0

Z ~ 5t FEBEl 0 0

A ~ B ERRE] 0 0

T~ B ERE| 0 0 - -

X~ ERE| 3 0 70.00 | 0.00%
505 [{LEB TfREE % —&El 5 | 11 2 | 1 58 81.25 | 60.00%
506 [{EEB Ti2EE 4 EREl 0 | 1 0 it - -
507 | TRERIEBRBETIEERE A —El 5 | 9 3 ER6 70.00 | 60.00%
508 |F&Fd JIER BT —fE| 3 4 3 Bl 89.15 [100.00%
509 |1 FE I EBRA3ERR FERE] 0 1 0 1 - -
510 (B2 TREEE —f%4El 9 | 10 7 B3 83.22 | 77.78%
511 | T3 TA2EERH5T P —f&&E| 0 2 0 Hh2 - -
512 |S45r FRYRE T2 B 50T —fE| 3 3 2 Bl 83.15 | 66.67%
513 |[E o FRIZBE TR SR FERE| 0 1 0 Gl
514 |4 ok AR B BT (A -2 (i 2R —f&E| 0 1 0 1 - -
601 |24 —fAE| 1 2 1 Br1 80.30 |100.00%
602 |ENIRHE AT 2 —RRE| 1 1 0 Bl 80.00 | 0.00%
603 [EELL TR % —fAEl 2 1 1 80.24 | 50.00% | 1
604 |EEELC TR 2 FEE| 0 1 0 1
605 |EELETRE % ERE| 0 1 0 1
606 [BRESE2 % —f%&E| 0 | 3 1 0 &2 - -
607 |BRESZE £ FEBE| 2 1 2 iz 70.00 |100.00%

E1H




113fﬁfﬁfﬁéﬂ&%ﬁ%@i%zﬁé“km%zg%ﬁﬁﬁﬁ%ﬁ‘mgé&f% . f?gg -

f A | | e [ | |mow] #F | K
608 |82 % —REE| 0 1 0 1 - -
609 |1 R L AR 2 2 —&dE| 1 1 1 88.61 |100.00%
610 | EVIRIERFCET —f%El 0 | 3 0 B3 - -
701 [Er5t8 4 —E 2 1 1 84.47 | 50.00%
801 [FRI BRI S (R R A I U R —fE| 1 4 1 &3 84.13 |100.00%
802 |(EEE R B E T 9T Ay AR T B s E R | —RB 4| 6 2 2 87.20 | 33.33% | 1
803 | BCREVE TN T Py A (s | — 4| 11 | 4 3 1 86.28 | 27.27%
804 [T B B TH L RS2 ST Py FHAH(EERITIRE) [—f&E] 7 2 2 90.55 | 28.57% | 3
805 | 7 Tms B TH I B B2 R T Pl zanc st | —f g 7 2 1 i1 90.96 | 14.29%
806 | (TP B2 AL T RS2 ST Py HAL(FEETEEEE) | —RE] 6 | 2 2 85.88 | 33.33% | 1
901 | B TEE A FREH(E B R | —8E| 5 4 3 &1 80.00 | 60.00%
902 | B TIEE A ZEEEBEhRGRENET) [—fFE| ] 2 0 B2 85.00 | 0.00%
003 B T2 4 REHEBTEHERS) | —KE| 3 7 3 4 85.00 | 100.00%
004 |BB T IR 4 - G e Xk —fE| 4 | 2 2 85.00 | 50.00%
905 | &R THEEE 4 —f%4| 13 | 10 8 ) 83.76 | 61.54%
906 | &R T2 % ERAE 9 | 3 3 83.88 | 33.33%
907 |t B TP —RE| 4 8 1 BR7 80.00 | 25.00%
908 | E T 25T FERAE| 1 3 0 3 80.00 [ 0.00%
009 | EBs TRREMFEFT (L EER) —%El 2 | 3 1 B2 83.00 | 50.00%
910 |Ef5 TS FT ZH(EEEEEEmE | —RE| 2 3 2 Bl 90.00 | 100.00%
011 |B/AS TRREBIIZTET Fe(EEERReReReEm | —84E| 4 2 1 1 90.00 | 25.00%
012 |EFFH 4 - AEEREETHEANLFE [CHREEEMSE | —ME 4 | 7 |1 2 k4 - [ 50.00%

BE AT —E 2 1 1 80.00

PR R B4l —E 5 1 4 87.00 -
013 |BFFiZ4H - BREERISGETHEEEZE | “HREREBSHE [—BE| 4 | 4 1 B3 - | 25.00%

ETATZeH —%E 2 0 B2 85.00

BSR4 —fE 2 1 Rl 85.00

EI12H




113884 ﬁifﬁ?ﬁ%%i%Zﬁ“ﬁﬁﬁ%Zg%ﬁﬁ%ﬁ%E'Slﬁf;/yﬁkﬁgﬁ o é&gﬁg -
f A | | e ]| mm |Eow] TF |
014 |3 HAEIG Sl S5 LB RS T —fE| 7 | 7 5 B0 | 83.00 | 71.43%
015 | B8 F B E RIS FE(EBERET) [—&E] 1 5 1 R4 88.88 | 100.00%
016 | =B E FHENEWITAT ZYH(CEBEREN [HE| 6 | 4 4 89.46 | 66.67%
17 [ERIF 2 2 B —| 7 3 3 85.50 | 42.86%
BOL £l 2 - VIRV - VYRR 2 |71 |1 1 S
BO1A bl 2 —fgs 4 0o | &4 |[s000
BOIB THYIRFE ST —RE 1 1 1 | FESH81 | 80.00
BO1C s e | — g 2 0 A2 80.00
BO2 [AE iR £ FER| 0 1 0 k1 - -
BO3 |2k (LM % —fE| 6 | 4 3 g1 | 83.45 | 50.00%
BO4 | 5 F BI4RAEE WIS BE S P —fE| 4 | 1 1 88.00 | 25.00% | 2
BOS |4 RE 2B LAY ST Fr —f&&E| 0 1 1 0
BO6 | 4= REEE B E( LAY SE Py FiER| 0 1 0 1 - -
BO7 [ pser —fEl 2 | 1 1 90.83 | 50.00% | 1
BO8 | (L RHEFF5E T —rE| 7 | 5 5 7913 | 71.43% | 1
BO9 [ ALRFEEMIT AT HEER| 0 1 0 k1 - -
B10| BERBE A E 2R LB EE —f&E| 2 4 2 #r2 77.87 | 100.00%
KOl |Jetiel R B R S LB ERE —ME 3 [ 6 | 1 [ 2]0 B3 75.00 | 66.67%
K02 |5oR T2 B R R BB A SBAE —fE| 3 5 3 B2 87.00 | 100.00%
KO3 | {5 I L2 2212 —f&E| 3 | 3 0 43 80.00 | 0.00%
KO4 |Res e i+ 2 | 9 | 2 6 | oot | 7860 | 66.67% | 3
1138B4F fE3E63 5T 267 | 310 |2 BT 53.93% | 17
11282 4E FESE60 7 22 | 204 L] 11438| 124 A6 56.61% | 12
it ¢ REEDBEXABMEAATBAE > HERBUERAET4% ~ FRE124

i KEFRAYIRE IBRREBUS A FTHEE EE -

SR




